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I.  Write your Roll No. on the top immediately on receipt
of this question paper.
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This question paper has two sections A and B.
3. Question 1 in Section A is compulsory.

4. Attempt any 4 questions from Section B.

4. Parts of 4 question musl be attempied together.

fi. Seetion A carries 30 marks and each question In
Section B carries 15 marks.

7.  Use of Calculator is not allowed,
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(8) Reter to the DataFrame Frame given in question
2 (4, Wrile & pythen program to perform the
following operations in the given dataset with
columns Name, Age, Weight, Height. . @) 115.10.20),
(i) Create & Wnﬁh&&nﬂn 2 subplots in [20,13,43],
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Section A is compulsary.
Attempt any four questions from Section B.

Parts of a question must be answered together.

Section A
(Compulsory)

{a) Differentiate between absolute and relative cell
referencing in Excel with the help of a suitable
example. (3}

B.T.0.






Give the formula to extract the records of B A

() Beging with ‘A"




(i) 1F
(iv) Sum
) Sump

_’:‘ﬁ}'_ﬂmaf-de: the fnﬂuwina tihle :
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7. {a) Explain Goal-seek, Scenario manager and Data
tables with the help of suitable examples. &)

ik} List any fouf chart clements 11 excel charts
{2)
(¢} Consider the following PRODUCT data in excel :
(3]

A B C D .|

1 | Daie Product Hegion (Juantity Price

s 1052023 | Lapep | Noida W 150

3 | 3052023 Tablet Moidn 4] [N

4 | 4052023 Laptop Deelbi M 4]

s | s052003 | Mobile | Punc 10 200 ]
6 | 6052023 | Mobie [relhi 20 300 )
~ {75023 | Laptop | Neida 40 100

Write the formula 10:
(i} Calculate the total sales
(i} Calculate the average price of produsts
(iii) Find the maximum quaniity gold.
{iv) Count the number of cales ronsaciions.
(v} Filter data for the region Moido.

{d) Differentiate hatwesn sUBSTITUTE and
REPLACE In axcel, (2}
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Section A js compulsory.

Taw

Attempt any four questions from Section B,

%, Pams of the quostion must he answered together,
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7. (a) What do you understand by the Recursion-tree
as, o e i e e . T ﬂl' .

tree for the recurrence ?iﬂi-I{;Jf?{-a J*W-

(6)

(¢) Write a C++ program to insert an element at the
front of a singly linked list, (4)

(1000)
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Section — A 15 compulsory.
Attempt sny five questions from Section - B

Parts of a question should be artempted together
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2. Section A s compulsory

i Attempt any § questions from Section B,

Sectign A
Lo {a) Give two responsibilities of each of the following
(33
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Question Mo 11s eompulsory
3. Antempt sny 5 of guestions Nos 2o 9.

4 Parts of 4 guestion must be answered topether.

i, (a) Write the chargeteristic table of SR flip-Oop
(]
{b) Perform the follawing operanons using signed-1"s
complement notation foF negative numbers in B-fit
répresentaiion |

P.T.L:
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(1) =42 + {-13)

i =42 — {13} (2)

{e) Convert the following numbers to the ndicated

bases ; [2)
(R (L2121, e (),

i) [ABTE) . o (-},

(d) Differentiate between selective-sel and selective-

clenr {2}
(e} Whai 18 Register? State the wse of PC, (2)
(f) Consider the given micro-operation | (23

MIAR] «— AC, SC « 0

Write the name of siven instruction nod state its

funcrion
tgy Whaot 15 cycle stealing in DMAY (3]

(b Drraw the troth lable and logic dingram of Half-
Adder 12]

-4
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(i} Specify the output of the following miero-
OPEraion ; 2

R =Rl +i(R2) « |
() Expand the following terms : (2}
(1) CMOS
{ii} ASCII
{iif} TTL

-

{iv) ECL

(k) Write micro-pperations for e following instruction

in the basic compiter (2]

LDA (Load 1 AC)

(1} Construct an 8-to-1 -line multiplexer with (wo 4-
to-1-line multiplexers and one 2 to-l-line
multiplexer. Use block disgrams for the three

mutltiplexcrs, I3

2. [a) Simplify the following function i Sum-Of-Products
[(SOF) form using K-map. Also draw the logic
diagram

B0
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FLP, 0, R, B) =:F(0, 2,5, 7, 8,10, 11, L2, 14)

dfP, . R, 5)'= ¥[(4,6) {h)

(b} Given the following Boolean function (%)
F=AB + ABC' + ABC

(i1 Simplify the given function Frasing Boolean
alzebra,

{10 Find complement of F using DeMorgan’s
thearem

3. (o} A pwesword instrustion is stored in memaory at an
address desipnated by the symbol W. The address
field of the instruction (stored at W + 1y 15
designated by the symbol Y. The opérand used
during the execution of the instruotion 14 stored al
an address symbolized by Z. An index register
cantains the value X. State how Z is calculaced
fram: the other addresses if the addressing mode

of the instruction is
{11 direct
(H? indirect

{1y indexed L6}

5650 b1

(b} Draw the lopie diagram of a 2-to-d-line Decader
with only NOR gutes including un eneble input

4, {u) Design a combinational cirguit with three inputs a,

b, ¢ ond three outputs P, O, B When the hinary
input 35 {4, 1,2 or 3, the binary output is one grester
than the input; otherwise, the binary output is one

less than the input. (6]

(i Obtain the 9" complement of the followimg 8-dig:t

-
ll‘fl."l'l'ﬂﬂl numbers ;
{1} SO00Y9s1E

(i) 12349376 (242}

5. () Explain the finctioning of a DMA Controller with

the help of a block disgram (h)

(b} & computer lias 32-bit instroetons and 12-hir
addresses, If there are 250 twiad dress instructions,
how many one-address instructions can be

formulated? (4}

£ PT.O
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[ S
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8. i)

7

A CoOmpUier nEes @ mamory gmil with-3 128K words
of 3 T bits each. A binary instruction code S slored
in one ward of memory. The instruction has four
parts: an dndicect bit, 8n operation code, o regisier
code parl to specify ane of 64 registers, dnd an

dddress part, (6]

(i} How muany bits are there in the operation
code, the register code part, and the dddress
part’

(it} Draw the mstrootion: word formatl and

=indicate the gwmber of bits in each par

(i) How many bits are there m the dare and

address inpats of the memory?

List the micro-operations for Feich and Decade
Phazse of Instruchion Cvele, (4]

Draw the block  disgrum for the hardware that
implements the following :
X+ yr AR e=—AR + BR

where AR and BR are two n-bit registérs and x,
voand z are the control variables. Inciude the logic
pates for the contro] functon, (6]

PToo
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(B} Write a program to evaluate the ‘arithmetic

stiltemen
X = (A+B) ® (C+D)

using two sddress and thres address instructions

(4)

(200)
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(2) What is B spnsiructor? Why does 8 consrustor

not have @ paturm 1 pe! (2
5
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. wnd last address in W TIEEE
Uit ix 190,87, 1401.202129. How many
ggqﬁﬁmiﬂﬁ % b i m“ﬁ;

-

i
s - i
T

ey A L T .mep-nl. fﬂﬂ nivise ;
8. (a) fwm'fﬂ o af stop and wait
channels. What e the 1ssucs @2 (6)
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N compulsory.
3. Attempt any three guestions from Q2 1o Q7.
. (u) List Tour Features of PHP. (2}

{b) How do we credte 4 constant in PHP? Declare o

constant with name flower and value Rose. (2)

{c) What will be the ouipuat of the following code
(L)
e
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<?php
$a =10;
b = 0;

]

Sval = Sa && Sh;

echo ($val T 'TRUE' : 'FALSE")."\n":
$val = S0 and §h,

echo (Sval ? 'TRUE' : 'FALSE");

T

{d) Write PHP command to connecl to a MySQL
server with address “127.8.8.17, 2}

(e} Whatis the difference between subsir() and sirste()
functions? Explain with an example of each.

()

{n) What is the purpose of using § POST[]? Explain
g usape with an example. 13}

(b) Write PHP seript to delete a récord from the table
OppriUPC integer, ppre ditle varchari2}) where
UPC in 42343602 12)

What is o regular expression? Why do we require
them? Create an HTML form containing Name and
Phone numhber, Using regulor expressions, {5y

5629 3

(1) Check whether the entered name starts with an
A" or not.

(i1} Phone numbers should follow the formal “xxx-
xxxxxx” where x is 2 number,

{8) What will be the outpul of the following code :
2)
«php

function increment({&5a)
{ ++5a; ]
funetion decrement($a)
| —%a; }
Sval = 104
echo "Value is = $Sval <br="™
merement(Svall;
echo *Value after incrementing 15 = $val <br>";
decrement| $val);
echo “Value sfter decrementing iz Sval <br=";

1=

(b} What is difference between an associalive array
and an indexed arcay? Explain with the help of an
example. (3

B.T.D,
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5.

Create an HTML form that gets Name af employee
and Basfe salary entered by user in text boxes.
Write PHP functions to peérform the following
calculations ; (5)

(i} Calculate DA-

ta) DA is 5% of basic salary if basic is less
than 10000,

(b} DA is 10% of basic salary if basic lies
between 10000 and 15000.

{c) DA iz 15% of basic salary if basic is
ereater than 15000,

(ii}y Calculate HRA-
HREA i3 20% of DAL

(itil] Total Salary is sum of basic, DA and HRA

What is meant by three tier web application
development? What 15 the role of PHP in web
application development? (3)

Explain the following functions with a ‘soitable
cxample :

{a) wewaords() (B imploded)
(&) substr replace| ) (dy dieg)
{e} stripslashes() (3)

(1000)



